Recruitment of Sub-Inspector in Delhi Police, CAPFs and Assistant Sub-
Inspector in CISF Examination, 2018

[Roll No. :

[Registration No.

Name :

Exam Time : 3:00 PM - 5:00 PM
[Exam Date : 15/03/2019

Section : SI CPO

Q1 Fmfafes 97 FEu-ga # ¥ &% TF T 0F @ § w6 § AR OF A 8 38 A
TEA-IA 1 =94 ST

ans of 148 : 81

X2 25 : 49
X316 : 36
<464 : 100

Question ID : 98958011985
Status : Answered
Chosen Option : 2

©? =T By & Sy Ber 2

ans X114
X212
v 16
X4 20

Question ID : 98958011998
Status : Answered
Chosen Option: 1

Q.3 Rl IR e § & d weg e R T & & g & A ¢ Ak s @ e saEe
¥ 37 A ReeT & o ST

Ans of 1 TEAT
X 2 WEr (FEIWHT)
X 3 TERUeT
X 4 FEr ()




Question ID : 98958011964
Status : Answered
Chosen Option : 1

¥ 37 FEmr & TEE ST S & T ST ¥ wERT A B

0, 6, 24, 60, 120, 216
Ans X'1.120

v 216

X386

X 4 60

Question ID : 98958011978
Status : Answered
Chosen Option : 2

Q.5 Ffthw & v Ao & TEAT U AT TEE TEA, @ 3R G F AR 8 FA wem s & 9% @ AR
5T 3 AT Tl 3EE ST 9% @5 AW Az 5 B T e 9 = N E o W e 7
B =wem A & wdw ¥ How ww & e ol g 7= 2

Ans X1 7 km
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Question ID : 98958011993
Status : Answered
Chosen Option : 1
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Question ID : 98958012001
Status : Answered
Chosen Option : 2

Q.7 Rl F= smar &, HAMMER &1 GBLNDS & %9 # f3r@r =1ar &1 33 % omwr & NEEDLE &' 5
forar smeem?

Ans 1. DLENEE
# 2 OFLEKF
/< 3. MFENKF
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Question ID : 98958011972
Status : Answered
Chosen Option : 4
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Question ID : 98958012002
Status : Answered
Chosen Option: 1

0 37 Rrwew F 9T AT S A TE ST F HEr FH F M

X2

p

Question ID : 98958011996
Status : Answered
Chosen Option : 4

U TR smer § Fla-8 g waeaEs G (7) & sarnia S5

60, 64, 32, 36, 18, 7
Ans «'1_ £ 2]

X211

X315

X420

Question ID : 98958011979
Status : Not Answered
Chosen Option : --




Q.1 =T o gemE § ¥ 99 T G 7 5 e o ¥ it =9 © v T s B
1 37 sree gem &1 @ T

Ans !f1 25
X2 33
X3 27
X415

Question ID : 98958011984
Status : Answered
Chosen Option : 1
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Ans
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Question ID : 98958012004
Status : Answered
Chosen Option : 3




Q1 F=ffEe ar Fea-grat & § @9 377 O v TE ¥ 7 § AR oE e # 3w e
3 TEA-IA 1 =94 ST

ans X111 : 13
X223:29
vs17: 21
X43:5

Question ID : 98958011987
Status : Answered
Chosen Option : 3
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Question ID : 98958011960
Status : Answered
Chosen Option: 3

U gfr X = 48 ¥ 3 ACT = 48 &, aF TALL = GE
Ans X188

X2 92

v': 90

X 4 45

Question ID : 98958011974
Status : Answered
Chosen Option : 1

°é1 3 39 AW F TG HST S FEERET AT § S a8 g9y o 2
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Ans
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Question ID : 98958012006
Status : Answered
Chosen Option : 2

Q.1 H 9T G F T YE FAr g1 50 HEX TAA F TeAS, Tg A T AW JgHT 15 FAeT drew
7 e ¥ B, 98 @ T s o 3R He 30 HeX T e ¥ 9% 9 e a1 3 g 15
T o §1 T T g & fhaer g W
Ans X110 m
<240 m
V320 m

X430 m

Question ID : 98958011994
Status : Answered
Chosen Option : 3

Q§1 FET3T & 3H FEHAD (V) F 9OS Fifew A AEfaied segEd (@) & ' g

(11, 16, 31)

ans o1 (17, 22, 37)
X2 (29, 34, 41)
X3 (19, 24, 31)
X 4 (23, 28, 31)

Question ID : 98958011988
Status : Answered
Chosen Option: 1

Q1 F=ffas o) w=gra & § 9 G 7 R w9 & we § 6 o v b = @ s
9 WeE-T3H HT =TI HAT

Ans X 1. Srerar : RreaTET
v G5 1 Td




X 3. el @ R el

X 4 SHT FIAT | HAT FT T

Question ID : 98958011965
Status : Answered
Chosen Option : 4

T vmr e = 9T Y S & 7E Her F 9 =

Ans

Question ID : 98958011997
Status : Answered
Chosen Option: 2

Q.2 =y & o8 FEmet # B 9o gEl dEar TEe FEw § @R § e gen Jwl 6w § weate

1

Ans

Rreew F T34 fAfET)

4262 : 4271 = 2139 :

X< 1. 2572
V2 2346
< 3. 9521
X4 7132




Question ID : 98958011981
Status : Not Answered
Chosen Option : --

Q.2 Tr=fafes wv ser-aagt & 3 9 wag ol fafice oeeet § o g@Y & WA § 59 @ O A
2 ¥ 37 3EEA EEeT F T ST

Ans of 1. LMOQ
X 2 DFHJ
X 3 TVXZ
X 4 GIKM

Question ID : 98958011963
Status : Answered
Chosen Option: 1

Q.2 Frr & 5 FEmet F OF 9N gEl dwa TEe FEw § @t § 3 ven Awl 6w § weete
free &1 72w fifemT

1202 sieny
ans 1165

X 2. 155

< 3160

' 4 156

Question ID : 98958011982
Status : Answered
Chosen Option : 4

042 wEmst & 3w gEgew (@) F A e S Gefafe ey @) F @@= d

(4, 3, 19)

Ans 51 (8, 5, 96)
v 2 (6, 4, 40)
X3 (5, 9, 28)
X 4 (3, 5, 25)

Question ID : 98958011989
Status : Answered
Chosen Option : 4

Q2 & Fuet & s & frewd | 3l 1| e o # o St B wew wS gU, o @ wwed w9 3 wE
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Question ID : 98958011977
Status : Answered
Chosen Option : 4

Q2 &3 fapew &1 737 F A G WEW FAE F 3T TERN A0S § OF THR GET NN TAF e W
6 TEE & HatE ¥
DFZ : IIU : : KLT

Ans - X1 EHW
X 2 FHX
v s FIY
X 4 ElY

Question ID : 98958011971
Status : Answered
Chosen Option : 3

Q.2 el %= &, TIGER # SUHJFHDFQS % &7 & foram =iam 81 33 a1 3 GINPQSRTDF #r
7 %% R srem?

Ans X 1. HERBS
v 2 HORSE
X 3 HOESR
X 4 HORTF

Question ID : 98958011973
Status : Answered
Chosen Option: 2

Qé2 30 e & Toa ST o FoY e ¥ 56 9eR wEeg § 5 IR o aeg 9w wee o
Hafaa 2

W fefEF cwmer
Ans o 1 gaT

v 2 35w

X 3 frae

X 4 greT

Question ID : 98958011967
Status : Answered
Chosen Option : 2




Q.2 Tt 3z a9 #, TANK 37 7-26-13-16 & 79 & forgm =am &, & 38 Fe o1 § CARGO # &g
9 frar srwm

Ans 1. 24-26-9-20-15
v 2 24-26-9-20-12
X 3 24-26-18-20-12
/4 23-01-9-20-12

Question ID : 98958011975
Status : Answered
Chosen Option : 2

Q3 37 foFed F1 Taw Hfew OFF g7 7 F &9 3 TEy S 9y B wmers F a9
0

g - frers

e XK a e
X2 g% : gl
v o TR e
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Question ID : 98958011969
Status : Answered
Chosen Option : 3

Q.3 =7 Reed w1 Taw Hifew GEd we-gTE F @9 o Ty § S gEw SR s F @9 8
1

Taer ATEST ; Seremer

Ans x.l_ ﬁa : m ﬂ

X 2 TR : A
X3 gy A9
v fFEE '

Question ID : 98958011968
Status : Answered
Chosen Option : 4

Q.3 o Repes & TO4 HT S AT HEW T § 3E TN WA ¢ TG TR GO HEX GHE Tgo HEW
2 TEE & waa

PRODUCT : TCUDORP :: FRACTION :
Ans - X 1. CTOINAFR
v 2 NOITCARF
< 3. CTIONAFR
X 4 NOTICARF

Question ID : 98958011970
Status : Answered




l Chosen Option : 2

3
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Ans
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Question ID : 98958012005
Status : Answered
Chosen Option : 2
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Question ID : 98958011995
Status : Answered
Chosen Option : 4

S eeRRmwm e e AmE 2
14-3 +10%x5+5
Ans X 1. 85
<2 48
V'3 45
X 4 40

Q3 gy v FFEeE - %, FAETE XX FAEFE g wEaem 0 E oA

Question ID : 98958011991
Status : Answered
Chosen Option : 3

24-8-+54+5x3 =13

e XK x 3l o+
X2 x AR +
X3+ 3+
v s -

063 AT TR T T §T ¥ 7 WS & [0 fhe o7 el & 39w F seerar gem?

Question ID : 98958011990
Status : Answered
Chosen Option : 4

v
A

Ans x1_
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N W ke ®

053 Tk &Y 9T T oo Rufaar gurd % ¥ gewr 1 F el #e-dr g @eie

Question ID : 98958011999
Status : Answered
Chosen Option : 2




L Frfofa gEer & weaams REa (?) & T W HE-Ar 7w wen?

XNV T, RP.?

Ans X1 Q
x2S
V3N
X420

Question ID : 98958011958
Status : Answered
Chosen Option: 3

Q.3 a?a:uﬁﬂ:am?a#ﬁrm&l&ﬁrll%@@%lam:ﬁaﬁmmgmﬂ@ré‘rémwﬁm
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Question ID : 98958011976
Status : Answered
Chosen Option : 1

064mm‘gw$rﬁﬁu‘ﬂmﬁ%mm‘qa;a:rﬁa‘H‘ =iy

Ans 1,1%?
X 2 gl
X 3 Mg
}(4.79143

Question ID : 98958011966
Status : Answered
Chosen Option: 3

U BeRRE R R T d e o T A el s m =i d
1 e #) 5w 3wee Ress & 9o S

Ans X1 EGIKM




X 2 NPRTV
X 3 MOQSU
v 4 IKLPS

Question ID : 98958011962
Status : Answered
Chosen Option : 4

GXB, JVD, MTF, PRH, ?
ans X1 SQJ
X 2 RPJ
X 3 RQl
v 4 SPJ

°é4 feafafaa @er & yedaraes REa (?) # FIF W FHIA-81 FW-GHg HCM?

Question ID : 98958011959
Status : Answered
Chosen Option : 4

1, 5, 5, 25, ?, 3125
Ans X1 215

v'2 125

X 3 225

X 4 375

°é4 frafef@a s@en & FHla-d g seaaF [ (7) # gfownfig e

Question ID : 98958011980
Status : Not Answered
Chosen Option : --

Ans X = 3k x
v2 4 3k -
K3 x 3 -
X4 o3 -

15 +15x 10-10 + 5 = 15

044 Al gieoT = 78 &9 ¥ g9 & & e R & el & 39w § sgear gen?

Question ID : 98958011992
Status : Answered
Chosen Option : 2

Q.4
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28 : 36

Ans X191 : 117
X2133 : 171
v 63:72
<4119 : 153

Question ID : 98958011983
Status : Answered
Chosen Option : 2

Q4 PeaoRE TN e R A T AT T R v o ¥ o § R T smEe § 3 e
6  swrgem @ T ST

Ans o125 - 65

X 2 46 : 64
/328 :82
X462:26

Question ID : 98958011986
Status : Answered
Chosen Option: 1
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v2Ig1oUN8
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Question ID : 98958012003
Status : Answered
Chosen Option : 2
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Question ID : 98958012007
Status : Answered
Chosen Option: 3

°§4 o & @ Flamr ey F9 R v oredl & a3k aniaol wa # adar #

1. F=9T
2. TiaaATEEaT
3. sherarrer

4. gETaTT
5. TreiRTe T

ans #1315,
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Question ID : 98958011961
Status : Answered
Chosen Option : 1
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Question ID : 98958012000
Status : Answered
Chosen Option : 2

%° Ask Disha Fam &2
Ans X 1w AfEEne JeEEe

v 2 T o i aFaEse W U deae

X 3

TF 3§ AR Far S IaE F e oea RE 39y s §
X a
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Question ID : 98958011825
Status : Answered
Chosen Option : 4

Y da AR e @ & & avew §
Ans «1#
X 2 FST
X 3
X 4 g

Question ID : 98958011808
Status : Answered
Chosen Option : 1

S ftaf@a & & #l5 ¥ 2w o & =2 2
e X T, RITR, e, s




v 2. aIfeEaTe, AreTeRT, F9Te, SEeneer
X 3. aiferears, AEeoaT, &9
X o gifeEare, A9Te, SERTRE

Question ID : 98958011835
Status : Answered
Chosen Option: 2

S TF FET & 39T sTeaTeRs v qHH TF & o

Ans

X 1. TFAEE
X 2 e TEdr
X3 gEee
v\ A

Question ID : 98958011837
Status : Answered
Chosen Option : 4

Q?ﬁmﬁrﬁﬁﬁﬁﬁmﬁmmmnﬁmﬁmm#g@mm,
SR Rd 3F F R #X A JEE & 95w v 9 w6 | S R #2

ans X1 3T Sred
X 2 GEFEUAH FETAT
v o FaREs fiE
X 4. Or.FREEH

Question ID : 98958011849
Status : Answered
Chosen Option: 2

L TfefT & @ FIF T SR T W RS g 78 3

e X fer g aren

X 2 grEr
X3 e
v 4 Tt
Question ID : 98958011832
Status : Answered
Chosen Option : 1
S Sigar 9T ARE @ ggen e "gaa -1, @ & faar amr am

Ans




X srdew
X 2 SreFergEar
X 3. HeRTperA

v o shgfeerer

Question ID : 98958011821
Status : Answered
Chosen Option : 4

QéS RTGS (7w o7 oW Jeeeie) & 7eas @ 3G & 7 e sgFam g g 2
Ans o 1. 2,00,000

< 21,000

< 3. 50,000

< 4 3,00,000

Question ID : 98958011814
Status : Not Answered
Chosen Option : --

Qé5 AT 3 T & O, ST H aEfeT S & g #r =@ § Tfages @ £

ans 1. 50

< 2. 60
V'3 65
X 4 75
Question ID : 98958011853
Status : Answered
Chosen Option : 3
% @R dgere & =T 10087 Udw BT & samr o)
Ans 1. AT-T-FITET TFee TefETw
X 2 gAEE REIH

X 3 g2 TMEA
X 4 oEw e HeE

Question ID : 98958011857
Status : Answered
Chosen Option : 2

°1'6 FFHT, FEFIEIET, AEFgeE A vsaatefean T IER FT IR W §

Ans 1. TR




X2 8z
v s AedEre T

X 4 FTeT

Question ID : 98958011826
Status : Not Answered
Chosen Option : --

Q8 st & FewEd w1 A Pl 13 a9t & S F o o R gl A o
Ans e #EI!‘%‘W

X 2. Frmeens ae

X 3. ERTTEg STereT

v % A

Question ID : 98958011845
Status : Answered
Chosen Option : 4

Q.6 TereoimuT o aTeT U AfYaw w9t § o IR sk oty & wremmy @R st Aiftee R
3 W v Fe EI

Ans ?(1 é ﬂ
X 2 HEHTEITEE
v fam
X o s

Question ID : 98958011815
Status : Answered
Chosen Option : 2

% Tty e AR WS F s 97 & AH @ o
Ans X 1. FTTYOT

X2 g

X 3. MESr

V4 TSARTH

Question ID : 98958011840
Status : Answered
Chosen Option : 3
.6 ¢
% qETeiTe oAl s § gew eded F 91T B

Ans xT ﬁ:“ ﬂ ﬁ%




X 2 Ye=Ts verermH
V' AT SgifeTH
X 4 femag SeeAwen

Question ID : 98958011834
Status : Answered
Chosen Option : 1

Y AoEtEaR e e d F T F S S
O

X2 yfgeamETg gea

v s T T dETE

X4 T g

Question ID : 98958011841
Status : Answered
Chosen Option : 2

Q.6 frHEaT 2018 F, WH ¥ TF Tve T #1F & ATHF FEY AT 3ITE HATTET T FeT H &=
7 SEE SR H FiS4E Sclac RATst W FeET & A Ace fHeE|

e X Shdle -6
X2 Sl -19
v i Sl 11
X4 e 17

Question ID : 98958011823
Status : Answered
Chosen Option: 3

oéf» fFimaEad W F faow @ § 78 oRa § 9wy w9 g &% §9 Seem
e g ¥, e i

X 2 9E A de, e de

X 3 AT S, TE AU b

X 4. gograng o, AT dF

Question ID : 98958011817
Status : Answered
Chosen Option: 1

ae =TT HRT FT 92T Siaaeg HetE ggw Ao fEedr am
SRRV ) )




X2 FiFT BraE
X 3 FOTH HeorTlr
X 4 f3dsT 99

Question ID : 98958011855
Status : Answered
Chosen Option : 3

" 1 gu ik g & RffT sy
X 2 @A
X o st Terey
X 4

067 qT e o 9 F T AT 23 37 2019 3ver eer wet A% & v sfERa G o

Question ID : 98958011813
Status : Answered
Chosen Option: 1

Ans x1' ﬁﬁ U
v 2 drar
X 3. e
X 4 TI3Ee (Chaoite)

% smyfers wEw $ 9fEet & ygea FEE saRd w@rd gl

Question ID : 98958011829
Status : Answered
Chosen Option : 1

A X 1. CEr-aAT FRIOT ST AEH
}(2.93‘1%11??%&?%&

/< 3 Ca-EDTA T1F o= Haelr g
V 4 SEUTgE B

Q; g F ¥ Fig-ar eeT ang $r 95 Tl wWegEe Aftww e w1 e A 3

Question ID : 98958011827
Status : Not Answered
Chosen Option : --

3 fmw far ot o gferr & & w F ST S

X TERTE e &

Q.7 simEr 3t gt & e smmer & w9 § S S 9, o TegA | 5 A9 HE afae sEet &




X 2 e fasar &
v 3 FERIET ITaET g
X 4 3= drar &8

Question ID : 98958011842
Status : Answered
Chosen Option: 3

U = AR T AR § R b
Ans «111@_
X2 §arg

X 4 fEraT

Question ID : 98958011810
Status : Answered
Chosen Option : 1

Y Hew oftus WA T TS SeAtafla & oo
e XK. Y e TREad)

X 2w e

5 STfET Fer

X 4 ST TH ARG TT

Question ID : 98958011836
Status : Answered
Chosen Option: 3

067 o=tz 7= few, 2017 & mewe § 3= few Shas oo vuw aRdw & oA gl

Ans «1. mm

X 2. FFoT TAE

X % FARYUT Fiaead

X 4 Tl 0T

Question ID : 98958011856
Status : Answered
Chosen Option: 3

Q.7 i
S AR IUsiE HeEUROT =T # Tua g

e X 3eR wew




v Fe
X 3 meT g
X 4. HEATSE

Question ID : 98958011831
Status : Answered
Chosen Option : 2

Y T wem gt sl oy # wifa gam e

Ans 1. 2009
X2 2011
v': 2013
X 4 2014

Question ID : 98958011851
Status : Answered
Chosen Option : 3

°é7?ﬁaﬂ?iaﬂ'<#2003ﬁ F 37t v REET HosdT SRER Fr g oo

Ans ?(1. Eﬂﬂé’
X 2. FreTeRTaT

X3 Frerar
VR

Question ID : 98958011854
Status : Answered
Chosen Option: 3

Q.8 Faadr 2019 &, 7T & TE H WA FF T HANE T EW(Tess) F A & FER F A T a7

0 v o & @ 11 T A =W TG F AR @ ¥

Ans of 1wy 2174947
X 2. w=rEr 317944
X 3 T=Er 414794
A 4 TEEr 151494

Question ID : 98958011820
Status : Answered
Chosen Option : 3

U8 smm Fr FEE e Rwmad F E, I 5F = TET F o I 2

Ans X1 SATHATR
X 2




X 3. grATag
v o BErEg

Question ID : 98958011833
Status : Answered
Chosen Option : 4

Qés T VTS T 316 TAeFET & TH-TT T T Few e EE g o F Ffaant 2
Are XK1 oY o

X 2 wEer fagdr arsrodT

X 3 Teieg JEE

v o HUTSAT A3

Question ID : 98958011846
Status : Answered
Chosen Option: 2

WP sma F FiF F F TR BN TR F A0ET F T F TS
e X T g

X2 @ fE

X 3 ﬂ%w

o o O E RfEE o

Question ID : 98958011843
Status : Answered
Chosen Option : 4

Q.8 ~
s IS TERT & FUH qTCdehdr ST 2I?

Ans ?(1- waﬁ
X2 a3 Oy
X 3. FEOT HrEdTr
v o ST 9T BT

Question ID : 98958011844
Status : Answered
Chosen Option : 4
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v 2 F@EEE - a1 oA
X s HFEE - T & Sl H A
X 4 FJG - T HEh g F A

Question ID : 98958011809
Status : Answered
Chosen Option: 2

068 __ = & 5 e e (bad money) 3epse A (good money) #T 8t Eerer ¥ ATeT oo & B
e X0 Fader = A

v 2 Iem # HEE

X3 @ = FEE

X 4 dFgEeT 7 FaF

Question ID : 98958011816
Status : Answered
Chosen Option: 2

Qis & SEIEY AGT A TIEE WIEH AAF FIG-GETT H 7§ FUTS T LEIT H E
Ans 1. ITHR g

X 2 frFaeT S

X 5. 3FATE I[AH FHA

X 4 3T WA

Question ID : 98958011811
Status : Answered
Chosen Option: 3

Q.8 F==ir 2019 &, = & ©wow F, F I]F W 4T F 100 ¥ 3T o W 9IS Fow HR I
8 ¥ 89 3F A9 F ARG FHT & B s #F F S S g

A o\ g TR ST
X 2 Fmé ey S
X 5w W S
X 4 g e S

Question ID : 98958011818
Status : Answered
Chosen Option : 4

U e ¥ o FiT
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xm&hmaﬁ

X 2 AAAGS TTH Al
X 3 gRERT =94
Vo e g

Question ID : 98958011839
Status : Answered
Chosen Option : 4

Qégﬁftﬁarzmsﬁ, A T F TE AAGFT RS R, AT T HTA
faev=ar | F9 F T 9T F Uy Ue GAHET A9 W gEaET

e K s
v 2w

X 3. gTaIr
X4 BT

Question ID : 98958011828
Status : Answered
Chosen Option : 2

Q.9 -
1 AT TEErE #+r TR 2w foRaT I e
Ans 3
X §EF|[I!“
o 2 emEEr
X2 3REr=e
X4 HpaT
Question ID : 98958011838
Status : Answered
Chosen Option : 1
Qfmmmma:rmama‘hw F¢ Fr 3 F AT 9T 9Rr FaT T
Ans x 1. 4
v25
X3 7
<43
Question ID : 98958011852
Status : Answered
Chosen Option : 2
Q.9




A & AT EeafeemeT & HuERatHt F AR TeT e FauT wiiver &
TR ¥ v e aEn FT R fFar &1 77 qumer JEE S9EsT S R
S T T wAleT F O AT JEAT # Uk A AGE FT FaAT

Ans . arfyer & =TT qomeRr
X2 fg| &Fr Farar gomer
X = &9 FT AqEAT FUTR
4. TGS HI AT FUITEI

Question ID : 98958011822
Status : Answered
Chosen Option : 1

Y Fr 'e9RdT AER REET # S9F FE S 2
Ans x1mm

X 2 gIAT ATeT

X 5. STHASST FEEHSAT TTeT

v ¢ FEENT Ia= SETeTE ETer

Question ID : 98958011847
Status : Answered
Chosen Option : 4

L ST AT T F T TR F I $ AT Tty @ 3
e X 68 Bz

X 2 48 ¥Fs

V'3 52 TEE

X4 62 UFs

Question ID : 98958011850
Status : Answered
Chosen Option : 3

Q9 sw FI A F7 AR FAST W IR IR 907 A F e AT w2

Ans o 1 orfeT uwT
X 2 safaufecT fafemr
Ksﬂg?i'?ﬁﬂ-ﬁ'
X4 mYfaT el

Question ID : 98958011848
Status : Answered




l Chosen Option: 1

Q9 s #r A F AT T qeieRer REw 2018 A fm o
K FATET dioe € AR

v 2 die carfies deged

X 3 7 FTEEE BT AEF

Question ID : 98958011824
Status : Answered
Chosen Option: 3

%° ‘Roadeo’ T ¥?
A X e e S S T §
X2 wF JEe S AR F TSHT F AF FAT B
X 3 U {Eie AT =S H AT §
v o TF [T S AT H GAE FAS H AeG HAT 8

Question ID : 98958011819
Status : Answered
Chosen Option : 4

.9
% Y FgrTE #r = S B
Ans x.l_ aﬁ'
X2 %ﬁ'
v o FIS TS
X4 e w g
Question ID : 98958011830
Status : Answered
Chosen Option : 4
Q.1 , ‘GedH Fr F AH ¥ T w9 ¥ BeE, e il O B, B e 7 s her
00 aivrer s fsar =mar 31
Ans
X1 I e

X 2§ TS
X3 grefr als
v o st glE




Question ID : 98958011812
Status : Answered
Chosen Option : 2

| 1.2 fraieeT #T 34% =T ¥
Ans o 140,800 cm
< 2 4,08,000 cm
/< 3 4080 cm
X 4408 cm

Question ID : 98958012170
Status : Answered
Chosen Option : 2

, TEIT 106974 TF 3 IT B TEAT ¥ mew 2
e FEer2 3,63k 7®

X2 Faad 233 @

X3 a2 33743

Xegaea2 3373

Question ID : 98958012159
Status : Answered
Chosen Option : 1

%; #=r R@T I 1T A% (bar graph), 3 FET F 4 NEET-3EET TAT HY TTEEAT FH AT § (GFE )

eBBBEBEEE

AT FETEE WER HEE

32005 m2010 w2015

f&T 71T X IF (bar graph) &, 2005 @ur 2010 = &= 3 2010 Fr 2015 & &= fagn & s=aEr
# & & Faa H=T §?

v 158

Question ID : 98958012201
Status : Answered
Chosen Option: 1

%1 A 3T B @t femt v F #5132 R F qw e 1 C o D 3w e A 31 R A qw e E
mAscmemﬁmmmaamma}wmﬁﬁmmw

Ans




X21- &=
XK= =
X =

Question ID : 98958012177
Status : Answered
Chosen Option : 2

Q.1 2
05 1+ tan® 4

T AT FIT gEm?

1+sec A

< 1. cosec A
X2 cos A
v's sec A
< 4 sin A

Question ID : 98958012195
Status : Answered
Chosen Option: 1

Q.1 =g s==t =1 3itga 3= 32.8 fremene &1 3fg 26.5 frarne st 28.3 feles a=iw @t or 3 a==t

06 = wog & et ome #, @ et # T sitwA aow F @2
v 1. 3145
<2303
X3 289
X4 292

Question ID : 98958012166
Status : Not Answered
Chosen Option : --

16008 & 3% 6 FT AT AF (face value) ¢
2 1. 6000

v26

X3 60

X 4 600

Question ID : 98958012164
Status : Answered
Chosen Option: 2

Q.1 A e & &7 & & o 4 R F F7 g%ar £, B 38 F # - mmsﬁ?ﬂﬁmm%ruﬁa‘r

08 mmﬁmﬂmﬁ%ﬁ%@aﬁaﬁﬁmﬁmﬂwaﬂm%ﬁ

Ans




V12
X 2 30
X3 20
X 415

Question ID : 98958012178
Status : Answered
Chosen Option : 3

Q" T e 48 cm A=A F qRRy W RAE T ¥ F¢ § I A 31 3 Ay # 1.2 misec
E’ﬁ'r?rﬁ-'rim fBeTe 12 Tehg H T Wiem ST ¢ of & & o 4w gene?

s o 1.8640 cm
/< 2 864 cm

/< 3 86.4 cm
X 4 864 cm

Question ID : 98958012181
Status : Not Answered
Chosen Option : --

Q.1 2 fn= o ¥ BT UF HEAER FETS F T Fer o6 1 3Ry @ 445 om § R Ste gemn
10 a’-’rw%a&?ﬁfr?: 1 HIa 1 SEwd §

* X1 54 cm?
X2 72 em?
V'35 32 em?
X 4 80 ecm?

Question ID : 98958012184
Status : Answered
Chosen Option : 4

‘3-11 TE (x—6)3+ (x —4)* + (x—5)3 = (Bx— 15) (x — 4) (x—6),aT x [ AT FIT M7
X113

V25

X3 7

<418

Question ID : 98958012188
Status : Answered
Chosen Option : 2

Q.1 i fyr | anffer-wafeT wwgfe @net g@t a9 & faw 21,320 ¢ st WY a9 & o 21,452 &1 wger
12 2% & o o mror Ty Fraed a2

s X 1.%12,650
< 2.213,200




< 3.212,970
v 4 212,000

Question ID : 98958012176
Status : Answered
Chosen Option : 4

Q.1 v zafFa 3= I F 92er 210 km FT 60 km/h 2 aifg & 3T 3678 198 km #r 66 km/h F 7fr &

13 o ager §1 oy 7 & A s Ay =

Ans X1 68.5 km/h
X 2 64 km/h
X 3 63 km/h
v 4 62.8 km/h

Question ID : 98958012165
Status : Answered
Chosen Option : 3

‘3: ol Teet % oY & GF T Seaaa FIT FT § T SHH TS ST ST & e H e &

Ans X1 300
X 2 90°
V'3 45°
X 4 60°

Question ID : 98958012197
Status : Answered
Chosen Option: 1

Q.1 o ot v BfFeT 779 W oF @Y 74T &1 56 9% ¥ FA 6, 8, 10 3 12 ¥%s F e

15 oo &) ey et & 912 3 0 @ ogel O Ue T asie?

s X1 e

X2 1 fame

X 241 e

v 2 BT

Question ID : 98958012161
Status : Answered
Chosen Option : 4

Q.1

16




= a3 T/ S AF (bar graph), 3 IS H 4 3(EET-3109T T=AT T SAEEAT F S2ATTT § (S A

o BBBEBEEE

S afRaas WER HaE

= 2005 w2010 =2015

& 77T I} TF (bar graph) F, 2005 3T 2015 #r 3T F I T TUT AAFAF T F FA
FAEETT e (FE H) FE?

Ans of 113
X211
X310
X4+ 9

Question ID : 98958012200
Status : Answered
Chosen Option : 2

) ;MG - bP =216 T a-b = 6, d (a+b)>—ab F A FT FM?
ans X138

X2 42

X3 52

v 36

Question ID : 98958012190
Status : Answered
Chosen Option: 3

3-; 91E TE (pie-chart) A, B, C 3R D #r F7-T77 37 F1 o1 T9AT H e M #

FL-TEG AT

12

g € A, B, C ¥ D T3 39FE F-297 AT & T e e e w0 @ arg wuat # gufar
El

e fFaT T &

0360

few a7v o WE (pie-chart) &, A B H FT-AFT 3T 12% 3 off a9 30 Fhaet F F GTAA
foraT 2em?

Ans X1.10.8
v'21.08
X309




< 4.0.108

Question ID : 98958012203
Status : Not Answered
Chosen Option : --

‘3-91 FeAET 7% (line graph), &7 80 F IR HERT F I9A= H g2 2

Mar
i

Ist

2nd

3rd

4th

TEay {EEr TEaN YEan

— aAwd

— W —— el

T 71T IF (line graph) &, T &7 AET F IS AR 3itEg aIHS F@T A

(FUH TEEE H qUiTFa)

Ans X 1212
V2 24
X3 254
X423

Question ID : 98958012206
Status : Answered
Chosen Option : 1

% oy Tl I 7 RET TeT 59 B9 To¥ # 12 ¥, & ufdua F faar amer geme

Ars o140
X225
X320
X+ 47

Question ID : 98958012172
Status : Not Answered
Chosen Option : --

% 10-{17-12+ (5+9x2-17)} & AT FAT ZM?

as o1 5
X25
X3 7
X4 7

Question ID : 98958012162
Status : Answered




l Chosen Option : 2

%21 ofe BEr FF 9T+ (regular hexagon) T &% 10843 cm? ¥ & sHar IRAT (perimeter) &:

Ans 13642 em
< 2 4243 cm
/3 283 cm
X424 em

Question ID : 98958012183
Status : Not Answered
Chosen Option : --

3-3] 5 3 Y TEW af FEdr FiT W F S 8, 12, 15 3R 20 F ¥ weAw ¥ qoiA-fewsw &

Ans of 1. 99960
X 299940
X 399980
X 4 99950

Question ID : 98958012160
Status : Answered
Chosen Option: 2

Q1 3 FEard 4:9 F ygoe & §1 A0 o wEmst F 12 @ gy g A amme 1121 @ e § o
24 gt & AT Y

ans X 1. B2
X 2 64
X 3 128
v 4 104

Question ID : 98958012173
Status : Answered
Chosen Option : 2

%51 o weefaeTg Ppe (Brwss smum 1or awet §) & o TR FT R T FEhE w0 & A
A 2: 5 §I FeaTR HI0T FAT MR

Ans x 1. 80°

X 2 140°

v'3.100°

X 4 40°

Question ID : 98958012194
Status : Answered
Chosen Option : 3

Q.1

26




A % 3T F T¥ 2014 F FFEe T¥ 2015 F 8% W If¥ g& 3k 2015 F FFmeer T 2016 7 6%
H Fl g2 A T§ 2016 F ITFT AT T2,34,778 & 2014 F 3HH A (weaH wYOT HEAT
F quiitee) Braer ar?

v 1 32,31,263
X 2 32,38,347
X 3 32.34,087
X 4 32,36,402

Question ID : 98958012171
Status : Not Answered
Chosen Option : --

Q.1 aﬂ'mAsﬂmeﬁaﬂ'mrzcﬁmsﬂwsoﬁmﬁmm%‘luﬁezﬁﬁmm% £y
27 mﬁmmq@saﬁaﬁrmm%ﬁvasﬁvBmaﬁwwmm ==
S H S TS # A B a6 g

X1 16=
v 13~
X 3. 13i
X4 16—

Question ID : 98958012179
Status : Not Answered
Chosen Option : --

Q1 12 cm WAE A TF TR Aed F TR & oA A § 2 em B T FE FA §1 2 em g Reaw
mm#ﬁ?m@(meultmg flaps) ® Hi=r ST ¥ Bed ¥ TAB = AW w4

v 128 cm?
X294 em?
3102 ecm3
X4 112 cm?

Question ID : 98958012186
Status : Answered
Chosen Option : 1

Q.1
29




fa==faf@a 7% (line graph), &= 2@d ¥ I ARt F SO F1 gAET B

23
= g
30 1 — e 2a
28 28 8
O 26
=i ~24:2-
ga —7i7 =
i 1838 b1
16 — 16
i S
i0 pLig
8
&
4
2
5} : : :
Ist 2nd 3rd ath
R (EeN fEaR EER
— H@E —— Us —— e

feT 71T IF (line graph) #, I=% H g HHaH TATAT FF AT?
Ans x1~ ﬂTﬂ'TﬁEﬁ

v 2 day EER

X 3 g IEE

X 4 gEY Taar

Question ID : 98958012205
Status : Answered
Chosen Option : 2

Q.1 ABCD v = a9 (cyclic quadrilateral) ¥ fSs AB 3@ W &t g7d &1 U =orw § 3iK o7

30 Apc = 148° ¥1 @ BAC FrewffEE & @ frEd aweT -
Ans x 1. 150°

2 58°

< 3 40°

5 4 60°

Question ID : 98958012191
Status : Answered
Chosen Option: 2

Q.1 &z O awr vk gea & Y Thel Rig P & Wi o1 & F f PA 3R PB #1 379 W A 3t B Rg
31 % zfx LAPB = 100°, & ~OAB 1 = T gT?

Ans X1 9o
X 2 20°
V' 50°
X 4 350

Question ID : 98958012192
Status : Not Answered
Chosen Option : --

% 13+{4 of 2-3+4x(6-4)} & #= T FM?




Ans 1

Ko -2—

13
X20
X313
v

Question ID : 98958012163
Status : Answered
Chosen Option : 4

cosec 31°
— &l

sec 59

Ans X1 3
X22
VR
X 40

AT T grEm?

Question ID : 98958012196
Status : Not Answered
Chosen Option : --

Q.1 Fe=faf@a % (line graph), &= 3t & I8 (Hant & TI9AE &7 ST 2

34

Ist 2nd 3rd 4th
g Egar YEan IEan

— m@ —— s —— Redr

T =17 IF (line

Ars of 1. 21
X213
X317
X8

graph) &, droY e F T AR 99E F I auAe § aT 2w oA

Question ID : 98958012207
Status : Answered
Chosen Option : 1

% AT x+i=3v2 , a2+ L

Ans XT 22
X2 26
v 16
X414

2

& AT FAT gHEm?




Question ID : 98958012189
Status : Not Answered
Chosen Option : --

Q.1 7 m TE A 18 m TR TF F3 @1 T §| Gars # T B F 18 mox 14 m = wASH

36 et S F & T T w9 ¥ e o ¥ Sews Y S G @

Ans X 1.26 m
X232m
V3275 m
X 4305 m

Question ID : 98958012187
Status : Not Answered
Chosen Option : --

0371 ¥ TE (pie-chart) A, B, C 3 D HI F7-297 3T &1 o@ T94T H har ar F

F-TPT AT

1.2

ma
1 ue
uc

mD

g W€ A, B, C 3 D T30 397 F-097 AT & e spEw e e w0 @ arg wuat # gufar

gl

T 7T 91 =< (pie-chart) F, T IR F TAT T T T A a2

Ans X'1.17.2%
v 2 21.3%
X 3 15%
X 4 19.5%

e T T v

0360

Question ID : 98958012204
Status : Not Answered
Chosen Option : --

Q.1 & 23T 717 X 1% (bar graph), 3 Iuf & 4 MeRT-He9T TSl T FIEEAT Fr gATET ¥ (T )

38

oBBBEBBEER

A GfEaEs TWER FEs

= 2005 m2010 =015

féw 1T &R 71 (bar graph) #, 2005 & geen # 2015 # W UsT # fOwaA FewE K g8 AN




Ans x_l. ﬁgn_
X 2 AfHAg
R r-r- )
X 4 FTe

Question ID : 98958012199
Status : Answered
Chosen Option: 1

Q.1 T TG F Bwd 7T 32,28,528 ¥l U GG $EST S1Ad IEGT oE qod ¥ 15% 3Uw s
39 et ¥ v 10% # gT ET ¥ TEg @ oA 9

Ans 1. 22,18,650
X 2 32,87,390
X 3 32,58,740
v 4 32,20,800

Question ID : 98958012168
Status : Not Answered
Chosen Option : --

Q.1 230 meFsT T &7 H 750 m O HEHH W AR FET E T ST R kmhRr Ay T w @ g, &
40 Grewiy F OR S H I F gl el qEG wen?

e X072 ds
X 2 58 FFE
X3 64 THhE
v 4 49 FFE

Question ID : 98958012182
Status : Not Answered
Chosen Option : --

3’11iﬁuﬁ3mﬁaaaﬁrw gTeT g

Ans x 1. 2
1
X2 22
2
1
s 22—
2
X422
Question ID : 98958012169
Status : Answered
Chosen Option : 3
Q.1




915 TE (pie-chart) A, B, C 3T D Fr H-3R7 3T H o THA & gATAT T F

F-ATT 3T

12

g T A, B, C 3 D @ 3WFd FT-ART 3 F O s 6T W Y A w9 # i
gl

s R v

036 0

few v 91$ W& (pie-chart) &, A 9T Thde ITaYd T S@TaT A &7
Ans of 1. 30%

< 2 15%

X 3 20%

X 4 40%

Question ID : 98958012202
Status : Not Answered
Chosen Option : --

Ql T FH T R 7% TRF T T3 a0 & BT U e 39450 T S 7% TS T A T a9 &
3 o 3w ofr = TE ST TERE S R @em

Ans C1.312,345.20
v 2 36,520.50
X 3 210,127

X 4 312,678.40

Question ID : 98958012175
Status : Not Answered
Chosen Option : --

Q.1 96 m =i vgrs & =& ¥, TEET F TF & ar F @S T A5 & FH F eI FT (FEET F AR
44 T & WA TR W) FAA: 30° 3R 60° §1 FR & & Fr gl B 2

(¥3=1.73 &1 @ ST R Peean 97 @E F witsa fifem)
Ans XK 1.220 m
X 2165 m
v3 111 m
X 4 243 m

Question ID : 98958012198
Status : Not Answered
Chosen Option : --




?1; 3H WA R FT SGA FI7T G fAHT HTUR 24 cm AN FOT (hypotenuse) 25 cm &

e K172 em?
<2108 cm?
X392 em?
v 4 84 cm?

Question ID : 98958012193
Status : Not Answered
Chosen Option : --

Q.1 & FEmst F1 FrT 777 ¥ 9EE & FEmmst F A 1 wgea 7:9 ¥ A gud o el vmn & A

46 v ygr 3 1 7 ¥ qEh wew &
Ans X 1. 252

X 2 147

X 3 63

v 4189

Question ID : 98958012174
Status : Answered
Chosen Option: 1

Q1 v s 3ifFa geg W 12% #1 ge & §1 afy T A 1924 §, & AW ge e we &
47 a
Ans o 12126

~ 2 2110.90

/3 2119.20

X4 7114

Question ID : 98958012167
Status : Answered
Chosen Option : 1

‘i-; 16 m 7%, 8 m 9% 3T 11 m 3= =7 & o g 3% wwar TFar T I H@aT 27

Ans o121 m
<220 m
<318 m
X419 m

Question ID : 98958012185
Status : Not Answered
Chosen Option : --

Q.1 &= 9= A, B 3T C F3er: 15, 24 3R 36 el & & a1 X T &1 38, =T D @ oY EF F 1
49 gt # grt & FEaT ¥ AR Wl OR TR A O W GET 6T A ¥ A 36 &% F oRa F faar
THT TEET?

Ans




Question ID : 98958012180
Status : Not Answered
Chosen Option : --

Q~01 T o7 T (perfect square) ST FIF F T, 8212 H A T FEH T TEA A0S AT e
5

Ans <1123
v' 2 69
X3 112
X 4 54

Question ID : 98958012158
Status : Not Answered
Chosen Option : --

Q1 Select the antonym of the given word.

51
DIURNAL

Ans < 1. annual
v 2. nocturnal
& 3. occasional
/< 4 irregular

Question ID : 98958011528
Status : Answered
Chosen Option : 4

Q.1 |
s, Select the antonym of the given word.

APPALLING

Ans X 1. alarming

/< 2. bloodless
< 3. horrible
« 4 appealing

Question ID : 98958011527
Status : Answered
Chosen Option : 3




Q.1
53

Select the most appropriate word to fill in the blanks.

War photographers use black and white pictures as a because they will shout and scream at you. You won't
the black and white, but you could walk past a colour picture.

Ans  of 1. weapon; miss
/< 2. weapon; like
/< 3. speaker: ignore
/< 4. strategy; consider
Question ID : 98958011513
Status : Answered
Chosen Option : 2
Q.1 - ;
54 Select the synonym of the given word.
INFUSE
Ans X 1. feel
v 2 fill
/< 3. enrich
X 4 apply
Question ID : 98958011521
Status : Answered
Chosen Option : 4
Q.1 . . . T
55 Select the most appropriate meaning of the given idiom.
Flash in the pan
Ans 1. Gold discovered only once during panning
/< 2. Something that offers hope. like a light in a tunnel
+ 3. An early promise that fails to materialize
/< 4. Sudden discovery or a surprise element
Question ID : 98958011531
Status : Not Answered
Chosen Option : --
Q.1 Identify the segment in the sentence, which contains the grammatical error.
56
A newly released study has found that more people were injuring riding electric scooters than by riding bicycles.
Ans

/< 1. that more people
/< 2. A newly released study has found
« 3 injuring riding electric scooters

/< 4. than by riding bicycles

Question ID : 98958011501




Status : Answered
Chosen Option: 3

°5'71 Select the word, which means the same as the group of words given.

a person who is one of the first to do something
Ans X 1. creator

< 2 maker

« 3. pioneer

&< 4 manufacturer

Question ID : 98958011538
Status : Answered
Chosen Option : 1

Q.1 Select the most appropriate word to fill in the blanks.
58

Scientists have identified _ regions that make people _ tasks rather than tackling them immediately.
Ans 5 1. mind; prepone
7< 2. head; differ
/< 3. face; postpone
« 4 brain; defer

Question ID : 98958011511
Status : Answered
Chosen Option: 2

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
59 substitute it, select No Improvement.

A historian envisions a future in which humans cannot be able to survive at all if they do not remain connected.

Ans X" 1. not be able to survive at all
/< 2. can be able to survive at all
/< 3. No Improvement

+ 4 will not be able to survive at all

Question ID : 98958011509
Status : Answered
Chosen Option : 4

Q.1 S
o Select the antonym of the given word.

SUNDER

Ans  of 1. combine
< 2 asunder
& 3 arrest
< 4 surrender




Question ID : 98958011529
Status : Answered
Chosen Option : 4

Q.1 Identify the segment in the sentence, which contains the grammatical error.
61

During hair transplantation, hair follicles is transplanted from one part of the head to another where the hair is thinning.

Ans  of 1. hair follicles is transplanted
# 2. During hair transplantation
/< 3. from one part of the head to another
/< 4. where the hair is thinning

Question ID : 98958011502
Status : Not Answered
Chosen Option : --

%; Select the wrongly spelt word
Ans 1. cautiously

+ 2. consequantly

/< 3. completely

/< 4. concurrently

Question ID : 98958011545
Status : Answered
Chosen Option: 1

Q.1 T
3 Select the synonym of the given word.

PERSUADE
Ans X 1. mislead
X 2. argue
X 3. dissuade
v 4 convince

Question ID : 98958011524
Status : Answered
Chosen Option : 4

Q.1
es Select the wrongly spelt word

Ans X 1. evocation
X 2 excavation
X 3. elocution
V' 4 evecuation

Question ID : 98958011544
Status : Answered




Chosen Option : 4

Comprehension:

Read the following passage and answer the questions given after it.
We are all born milk drinkers. Babies® guts produce the enzyme
lactase, which breaks down lactose, the sugar in cow’s milk, into the
simpler sugars -- glucose and galactose. But for the majority of
humans, production of the enzyme lactase plummets after weaning.
“From a human perspective — no, to go further than that, from a
mammalian perspective — the norm is to be able to tolerate your
mother’s breast milk, and then as you get past infancy, to stop
producing lactase and become lactose intolerant,” said Adam Fox, a
consultant paediatric allergist at Guy’s and St Thomas’s hospitals, and
one of the UK’s leading food allergy experts. “Then you’ve got a small
group of humans that have a mutation which means they maintain
production of lactase into adulthood. Northern Europeans, the Masai
[in east Africa], some Arab groups as well. But that’s the exception,
not the rule.”
That schism between milk-drinkers and the rest — actually a series of
independent genetic mutations — appears to have occurred about 10,000
years ago, around the time humans were domesticating farm animals. Tt
is the reason that in countries such as the UK, Sweden and Ireland,
more than 90% of adults can drink milk without suffering any ill
effects, but worldwide, more than two-thirds of all adults are
considered lactose intolerant. For lactose-intolerant people, a glass of
milk can induce bloating, stomach pains and diarrhoea. (Lactose
intolerance should not be — though often is — confused with cow’s milk
allergy, an immune response to the proteins in cow’s milk that affects
around 1% of UK adults.)
Even in northern Europe, milk as we know it is a recent phenomenon.
Fresh milk, left unrefrigerated, spoils quickly and can harbor a variety
of deadly pathogens, including E Coli and tuberculosis. For most of
history milk was either consumed within moments of milking or
processed as cheese or yoghurt. Few drank milk in its liquid form.
“The Romans considered it a sign of barbarism,” said Mark Kurlansky,
author of Milk! A 10,000-Year FoodFracas. *The only people who
drank milk were people on farms, because they were the only ones who
could get it fresh enough.” Even then, cow’s milk was considered
inferior to alternatives such as goat or donkey. In the 19th century,
“swill milk — so called because cows were fed the filthy runoff from
inner-city breweries, turning their milk blue — was linked with
thousands of infant deaths. Only in the early 20th century, with the
introduction of mandatory pasteurization — in which milk is heated to
kill off any bacteria before bottling — did milk become safe enough for
most people to drink regularly.)

SubQuestion No : 165

Q1 The author points out that in the 19th century, swill
milk was linked with thousands of infant deaths.
Which ONE of the actions below would have, if
familiar, available and practicable for the people of
that time, saved these children?

Ans




/< 1. Treating lactose intolerance with medicines

/< 2. Shutting down inner city breweries

« 3. Feeding the cows uncontaminated healthy food
/< 4. Freezing the milk to remove the pollutants

Question ID : 98958011547
Status : Not Answered
Chosen Option : --

Comprehension:




Read the following passage and answer the questions given after it.
‘We are all born milk drinkers. Babies® guts produce the enzyme
lactase, which breaks down lactose, the sugar in cow’s milk, into the
simpler sugars -- glucose and galactose. But for the majority of
humans, production of the enzyme lactase plummets after weaning.
“From a human perspective — no, to go further than that, from a
mammalian perspective — the norm is to be able to tolerate your
mother’s breast milk, and then as you get past infancy, to stop
producing lactase and become lactose intolerant,” said Adam Fox, a
consultant paediatric allergist at Guy’s and St Thomas’s hospitals, and
one of the UK’s leading food allergy experts. “Then you’ve got a small
group of humans that have a mutation which means they maintain
production of lactase into adulthood. Northern Europeans, the Masai
[in east Africa], some Arab groups as well. But that’s the exception,
not the rule.”
That schism between milk-drinkers and the rest — actually a series of
independent genetic mutations — appears to have occurred about 10,000
years ago, around the time humans were domesticating farm animals. It
is the reason that in countries such as the UK, Sweden and Ireland,
more than 90% of adults can drink milk without suffering any ill
effects, but worldwide, more than two-thirds of all adults are
considered lactose intolerant. For lactose-intolerant people, a glass of
milk can induce bloating, stomach pains and diarrhoea. (Lactose
intolerance should not be — though often is — confused with cow’s milk
allergy, an immune response to the proteins in cow’s milk that affects
around 1% of UK adults.)
Even in northern Europe, milk as we know it is a recent phenomenon.
Fresh milk, left unrefrigerated, spoils quickly and can harbor a variety
of deadly pathogens, including E Coli and tuberculosis. For most of
history milk was either consumed within moments of milking or
processed as cheese or yoghurt. Few drank milk in its liquid form.
“The Romans considered it a sign of barbarism,” said Mark Kurlanslky,
author of Milk! 4 10,000-Year FoodFracas. *The only people who
drank milk were people on farms, because they were the only ones who
could get it fresh enough.” Even then, cow’s milk was considered
inferior to alternatives such as goat or donkey. In the 19th century,
“swill milk™ — so called because cows were fed the filthy runoff from
inner-city breweries, turning their milk blue — was linked with
thousands of infant deaths. Only in the early 20th century, with the
infroduction of mandatory pasteurization — in which milk is heated to
kill off any bacteria before bottling — did milk become safe enough for
most people to drink regularly.)

SubQuestion No : 166

%'g ‘Lactose intolerance’ is

Ans 1. linked to discovery and propagation of plant milk

x 2 experience and suffering problems in the digestive
© system
a human body not being able to accept cow’s milk

" allergy




absence of the enzyme lactase in the gut, creating

4,
v intolerance for milk

Question ID : 98958011548
Status : Answered
Chosen Option : 2

Comprehension:

Q.1

Read the following passage and answer the questions given after it.
We are all born milk drinkers. Babies” guts produce the enzyme
lactase, which breaks down lactose, the sugar in cow’s milk, into the
simpler sugars -- glucose and galactose. But for the majority of
humans, production of the enzyme lactase plummets after weaning.
“From a human perspective — no, to go further than that, from a
mammalian perspective — the norm is to be able to tolerate your
mother’s breast milk, and then as you get past infancy, to stop
producing lactase and become lactose intolerant,” said Adam Fox, a
consultant paediatric allergist at Guy’s and St Thomas’s hospitals, and
one of the UK’s leading food allergy experts. “Then you’ve got a small
group of humans that have a mutation which means they maintain
production of lactase into adulthood. Northern Europeans, the Masai
[in east Africa], some Arab groups as well. But that’s the exception,
not the rule.”
That schism between milk-drinkers and the rest — actually a series of
independent genetic mutations — appears to have occurred about 10,000
years ago, around the time humans were domesticating farm animals. It
is the reason that in countries such as the UK, Sweden and Ireland,
more than 90% of adults can drink milk without suffering any ill
effects, but worldwide, more than two-thirds of all adults are
considered lactose intolerant. For lactose-intolerant people, a glass of
milk can induce bloating, stomach pains and diarrhoea. (Lactose
intolerance should not be — though often is — confused with cow’s milk
allergy, an immune response to the proteins in cow’s milk that affects
around 1% of UK adults.)
Even in northern Europe, milk as we know it is a recent phenomenon.
Fresh milk, left unrefrigerated, spoils quickly and can harbor a variety
of deadly pathogens, including E Coli and tuberculosis. For most of
history milk was either consumed within moments of milking or
processed as cheese or yoghurt. Few drank milk in its liquid form.
“The Romans considered it a sign of barbarism,” said Mark Kurlansky,
author of Milk! 4 10,000-Year FoodFracas. *The only people who
drank milk were people on farms, because they were the only ones who
could get it fresh enough.” Even then, cow’s milk was considered
inferior to alternatives such as goat or donkey. In the 19th century,
“swill milk™ — so called because cows were fed the filthy runoff from
inner-city breweries, turning their milk blue — was linked with
thousands of infant deaths. Only in the early 20th century, with the
introduction of mandatory pasteurization — in which milk is heated to
kill off any bacteria before bottling — did milk become safe enough for
most people to drink regularly.)

SubQuestion No : 167




Most adults in India continue to have milk without
suffering any of the issues outlined in the passage
because

Ans genetic mutation has helped reduce lactase

X production

/< 2. they continue to live in farms and get fresh milk

X 3 they have no other source of nutrients to nourish
~ them

+ 4 they maintain production of lactase into adulthood

Question ID : 98958011549
Status : Answered
Chosen Option : 3

Comprehension:




Q.1
68

Ans

Read the following passage and answer the questions given after it.
‘We are all born milk drinkers. Babies® guts produce the enzyme
lactase, which breaks down lactose, the sugar in cow’s milk, into the
simpler sugars -- glucose and galactose. But for the majority of
humans, production of the enzyme lactase plummets after weaning.
“From a human perspective — no, to go further than that, from a
mammalian perspective — the norm is to be able to tolerate your
mother’s breast milk, and then as you get past infancy, to stop
producing lactase and become lactose intolerant,” said Adam Fox, a
consultant paediatric allergist at Guy’s and St Thomas’s hospitals, and
one of the UK’s leading food allergy experts. “Then you’ve got a small
group of humans that have a mutation which means they maintain
production of lactase into adulthood. Northern Europeans, the Masai
[in east Africa], some Arab groups as well. But that’s the exception,
not the rule.”
That schism between milk-drinkers and the rest — actually a series of
independent genetic mutations — appears to have occurred about 10,000
years ago, around the time humans were domesticating farm animals. It
is the reason that in countries such as the UK, Sweden and Ireland,
more than 90% of adults can drink milk without suffering any ill
effects, but worldwide, more than two-thirds of all adults are
considered lactose intolerant. For lactose-intolerant people, a glass of
milk can induce bloating, stomach pains and diarrhoea. (Lactose
intolerance should not be — though often is — confused with cow’s milk
allergy, an immune response to the proteins in cow’s milk that affects
around 1% of UK adults.)
Even in northern Europe, milk as we know it is a recent phenomenon.
Fresh milk, left unrefrigerated, spoils quickly and can harbor a variety
of deadly pathogens, including E Coli and tuberculosis. For most of
history milk was either consumed within moments of milking or
processed as cheese or yoghurt. Few drank milk in its liquid form.
“The Romans considered it a sign of barbarism,” said Mark Kurlanslky,
author of Milk! 4 10,000-Year FoodFracas. *The only people who
drank milk were people on farms, because they were the only ones who
could get it fresh enough.” Even then, cow’s milk was considered
inferior to alternatives such as goat or donkey. In the 19th century,
“swill milk™ — so called because cows were fed the filthy runoff from
inner-city breweries, turning their milk blue — was linked with
thousands of infant deaths. Only in the early 20th century, with the
infroduction of mandatory pasteurization — in which milk is heated to
kill off any bacteria before bottling — did milk become safe enough for
most people to drink regularly.)

SubQuestion No : 168
“More than 90% of adults in countries such as the
UK. Sweden and Ireland can drink milk without
suffering any ill effects” because

* 1 these countries were farmland before they became
* sophisticated cities
they have a lot of dairy products such as cheese and

% yoghurt




« 3. they have a history of domesticating farm animals

x 4 they always had pasteurized milk and avoided fresh
milk

Question ID : 98958011550
Status : Answered
Chosen Option: 3

Comprehension:

Read the following passage and answer the questions given after it.
We are all born milk drinkers. Babies’ guts produce the enzyme
lactase, which breaks down lactose, the sugar in cow’s milk, into the
simpler sugars -- glucose and galactose. But for the majority of
bumans, production of the enzyme lactase plummets after weaning.
“From a human perspective — no, to go further than that, from a
mammalian perspective — the norm is to be able to tolerate your
mother’s breast milk, and then as you get past infancy, to stop
producing lactase and become lactose intolerant,” said Adam Fox, a
consultant paediatric allergist at Guy’s and St Thomas’s hospitals, and
one of the UK’s leading food allergy experts. “Then you’ve got a small
group of humans that have a mutation which means they maintain
production of lactase into adulthood. Northern Europeans, the Masai
[in east Africa], some Arab groups as well. But that’s the exception,
not the rule.”
That schism between milk-drinkers and the rest — actually a series of
independent genetic mutations — appears to have occurred about 10,000
years ago, around the time humans were domesticating farm animals. Tt
is the reason that in countries such as the UK, Sweden and Ireland,
more than 90% of adults can drink milk without suffering any ill
effects, but worldwide, more than two-thirds of all adults are
considered lactose intolerant. For lactose-intolerant people, a glass of
milk can induce bloating, stomach pains and diarrhoea. (Lactose
intolerance should not be — though often is — confused with cow’s milk
allergy, an immune response to the proteins in cow’s milk that affects
around 1% of UK adults.)
Even in northern Europe, milk as we know it is a recent phenomenon.
Fresh milk, left unrefrigerated, spoils quickly and can harbor a variety
of deadly pathogens, including E Coli and tuberculosis. For most of
history milk was either consumed within moments of milking or
processed as cheese or yoghurt. Few drank milk in its liquid form.
“The Romans considered it a sign of barbarism,” said Mark Kurlansky,
author of Milk! A 10,000-Year FoodFracas. “The only people who
drank milk were people on farms, because they were the only ones who
could get it fresh enough.” Even then, cow’s milk was considered
inferior to alternatives such as goat or donkey. In the 19th cenfury,
“swill milk™ — so called because cows were fed the filthy runoff from
inner-city breweries, turning their milk blue — was linked with
thousands of infant deaths. Only in the early 20th century, with the
introduction of mandatory pasteurization — in which milk is heated to
kill off any bacteria before bottling — did milk become safe enough for
most people to drink regularly.)

SubQuestion No : 169




Q) What is this passage about?
Ans 3 1. Weaning and the plummeting enzyme lactase
/< 2. Why some adults develop milk intolerance

« 3 Milk and lactose intolerance

/< 4 How pasteurized milk cured lactose intolerance

Question ID : 98958011551
Status : Answered
Chosen Option : 1

Q.1 Identify the segment in the sentence, which contains the grammatical error.
70

Smartphone cameras can now take pictures of near-professional quality, so they also have limitations.
Ans 1. pictures of
« 2. so they also have limitations
X 3. can now take
/< 4. near-professional quality

Question ID : 98958011500
Status : Answered
Chosen Option : 4

0.1 . - L " gw
21 Select the most appropriate meaning of the given idiom.

Hit the nail on the head
Ans  of 1. say or do something exactly right
/< 2. hurt a person by telling the truth
/< 3. drive a nail into a wall

/< 4. punish someone for a heinous crime

Question ID : 98958011532
Status : Answered
Chosen Option: 1

Q.1 Identify the segment in the sentence, which contains the grammatical error.
72

Regardless of class, income or race, parents believe that children who are bored after school should enrolled in
extracurricular activities.

Ans 5 1. Regardless of class. income or race,
& 2. in extracurricular activities.
#< 3. children who are bored after school
« 4 should enrolled

Question ID : 98958011504
Status : Not Answered
Chosen Option : --




Q.1 Identify the segment in the sentence, which contains the grammatical error.

73
This camping site is a naturally sculpted amphitheater that serving as the perfect spot to lay back and count the stars.

Ans  of 1 that serving as the perfect spot
/< 2. to lay back and count the stars.
/< 3. anaturally sculpted amphitheater
/< 4. This camping site is

Question ID : 98958011503
Status : Not Answered
Chosen Option : --

0.1 " - L . -
52 Select the most appropriate meaning of the given idiom.

Back seat driving
Ans o 1. Interfering in affairs without having knowledge
/< 2. Instructing husbands over the phone about what to buy
/< 3. Commenting on players from the sidelines

/< 4 Attempting to teach a cab driver how to drive.

Question ID : 98958011534
Status : Answered
Chosen Option : 1

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence, If there is no need to
75 substitute it, select No Improvement.

The automation revolution has hit recruitment, with everything from facial expressions to vocal tone now analyzed
with algorithms and artificial intelligence.

Ans XT

now been analyzed with algorithms and artificial intelligence

« 2 now analyzed by algorithms and artificial intelligence
/< 3. now analyzed in algorithms and with artificial intelligence

/< 4. No Improvement

Question ID : 98958011507
Status : Answered
Chosen Option : 4

3'61 Select the word, which means the same as the group of words given.

open rebellion of soldiers and sailors against lawful authority
Ans X1 strike
« 2. mutiny
25 3. coup
/< 4. protest




Question ID : 98958011537
Status : Answered
Chosen Option : 4

Q.1
77

VOLITION

Ans 21 willful
X 2 violence
/< 3. disposition
« 4 compulsion

Select the antonym of the given word.

Question ID : 98958011530
Status : Answered
Chosen Option : 4

Q.1

HARDSHIP
Ans X 1. mystery
+ 2. misery
X 3. difficult
/< 4 privacy

2g Select the synonym of the given word.

Question ID : 98958011522
Status : Answered
Chosen Option : 1

Q.1

A wolf in sheep’s clothing

Ans o 1. A dangerous person pretending to be harmless

/< 2. A cunning man in a leather coat

/< 3. A scholar learning how to act as the fool

/< 4 A celebrity dressed as a commoner

2o Select the most appropriate meaning of the given idiom.

Question ID : 98958011535
Status : Not Answered
Chosen Option : --

Q.1 S
g0 Select the synonym of the given word.

INDISTINGUISHABLE
Ans 1. comparable




/< 2. profound

X 3 reflective
« 4 equivalent

Question ID : 98958011525
Status : Answered
Chosen Option : 1

%11 Select the word, which means the same as the group of words given.

a person who knows a lot about and enjoys one of the arts, or food, drink, etc.
Ans 1. admirer
< 2 aristocrat
X 3. ascetic

' 4 connoisseur

Question ID : 98958011536
Status : Not Answered
Chosen Option : --

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
82 substitute it, select No Improvement.

While there is still a debate about why depression, anxiety and suicide have skyrocketed among people, today,

Ans X 1. No Improvement

' 2. smartphone use surely plays a part

/< 3. smartphone usage plays a part surely
/< 4 smartphone use would surely play a part

Question ID : 98958011508
Status : Answered
Chosen Option : 2

%-; Select the most appropriate word to fill in the blanks.
A photograph should ~ at you and tell you loudly that something’s
Ans 1. wink; strange
/< 2. look: scary
/< 3. laugh: easy
« 4 shout; wrong

Question ID : 98958011512
Status : Not Answered
Chosen Option : --

Q.1
84




Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No Improvement.

Amnesty International had a reputation of being a hard place to work so the word “toxic’ was used to describe the
Amnesty work culture so far back as the 1990s.

Ans o 1. as far back as the 1990s
/< 2. as far back the 1990s
/< 3. No Improvement.

/< 4 so far back as the 1990

Question ID : 98958011505
Status : Not Answered
Chosen Option : --

Q.1 Select the most appropriate word to fill in the blanks.

85
In general Earth’s magnetic is getting weaker, leading scientists to say that it will eventually flip, like a bar
flipping over.

Ans 1. area; tender
« 2. field; magnet
/< 3. ground: chocolate

/< 4. power: gymnast

Question ID : 98958011514
Status : Not Answered
Chosen Option : --

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
86 substitute it, select No Improvement.

Authorities has been regular issuing avalanche warnings for vulnerable areas that have witnessed heavy snowfall.

Ans X 1. have been regular issuing
/< 2. No Improvement
/< 3. has been regularly issue

« 4 have been regularly issuing

Question ID : 98958011506
Status : Not Answered
Chosen Option : --

Q.1

o, Select the most appropriate meaning of the given idiom.

Carry a chip on one’s shoulder
Ans o 1. Entertaining a grudge over a past event
/< 2. Moving daintily across rooms
/< 3. Having a plate inserted to fix the collar bone
/< 4. Carrying multiple stars over the lapel

[ Question ID : 98958011533




Status : Not Answered
Chosen Option : --

Q.1 Select the word, which means the same as the group of words given.
88

amode of behavior or way of thought peculiar to an individual (not sub- or abnormal in any way)
Ans 1. singular
/< 2. cynical
« 3 idiosyncratic
X 4 idiotic

Question ID : 98958011539
Status : Not Answered
Chosen Option : --

Q.1
ag Select the wrongly spelt word

Ans 1. executive
W 2 exetension
/< 3. execution

/< 4 excursion

Question ID : 98958011543
Status : Not Answered
Chosen Option : --

%’J Select the word, which means the same as the group of words given.

A transport vehicle for conveying the coffin at a funeral

Ans - 1. ambulance
X 2. bier
« 3. hearse
X 4. van

Question ID : 98958011540
Status : Not Answered
Chosen Option : --

Q1 Select the antonym of the given word.

91
OPAQUE

Ans X 1. absorbent
2 2 dull
/X 3. porous

« 4. transparent

Question ID : 98958011526




Status : Not Answered
Chosen Option : --

Q.1 Select the most appropriate word to fill in the blanks.
92

Earth’s north magnetic has been drifting so fast in the last few decades that scientists say that past estimates are

no longer accurate enough for precise

Ans 1. zone: navigation
/< 2. area: estimates
« 3. pole; navigation

/< 4 region: estimates

Question ID : 98958011510
Status : Not Answered
Chosen Option : --

Qs Select the wrongly spelt word

Ans 1. negativity
/< 2. negation
+ 3. negotaition

/< 4 navigation

Question ID : 98958011542
Status : Not Answered
Chosen Option : --

Q1
os Select the wrongly spelt word

Ans X 1. councilor
/< 2. consolation
/< 3. concomitant

W 4 concilliation

Question ID : 98958011541
Status : Not Answered
Chosen Option : --

95
DISCERN

Ans  of 1. discriminate
< 2 control
/< 3. regulate
/< 4 analyze

Q1 Select the synonym of the given word.

Question ID : 98958011523
Status : Not Answered




l Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

It was a crime of passion of such disfiguring violence that Victorian
London was (1) scandalized. In November 1865, Felix Deacon,
a young lithographer who had (2) for a married woman, Sarah
Ann Peacock, was attacked (3) the street. His assailant was not
her husband but another man, a dentist who was equally (4)
with Mrs. Peacock and therefore saw Deacon as a (5).

SubQuestion No : 196

% Select the most appropriate option to fill in blank
No.1.
Ans X1 is left
<2 left
& 3 has left
o 4 was left

Question ID : 98958011516
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

It was a crime of passion of such disfiguring violence that Victorian
London was (1) scandalized. In November 1865, Felix Deacon,
a young lithographer who had (2) for a married woman, Sarah
Ann Peacock, was attacked (3) the street. His assailant was not
her husband but another man, a dentist who was equally (4)
with Mrs. Peacock and therefore saw Deacon as a (5).

SubQuestion No : 197

% Select the most appropriate option to fill in blank
No.2.
Ans X 1. tripped
+ 2 fallen
#< 3 cared
< 4 come

Question ID : 98958011517
Status : Not Answered
Chosen Option : --




Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

It was a crime of passion of such disfiguring violence that Victorian
London was (1) scandalized. In November 1865, Felix Deacon,
a young lithographer who had (2) for a married woman, Sarah
Ann Peacock, was attacked (3) the street. His assailant was not
her husband but another man, a dentist who was equally (4)
with Mrs. Peacock and therefore saw Deacon as a (5).

SubQuestion No : 198

0_1 E i 3
og Select the most appropriate option to fill in blank
No.3.
Ans x 1. into
V2 in
/< 3. through
< 4 at

Question ID : 98958011518
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

It was a crime of passion of such disfiguring violence that Victorian
London was (1) scandalized. In November 1865, Felix Deacon,
a young lithographer who had (2) for a married woman, Sarah
Ann Peacock, was attacked (3) the street. His assailant was not
her husband but another man, a dentist who was equally (4)
with Mrs. Peacock and therefore saw Deacon as a (5)

SubQuestion No : 199

Q‘I . . -

o9 Select the most appropriate option to fill in blank
No.4.

Ans 1. hurt

# 2 bent

/< 3. working

W 4 smitten

Question ID : 98958011519
Status : Not Answered
Chosen Option : --

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most
appropriate option for each number.

It was a crime of passion of such disfiguring violence that Victorian
London was (1) scandalized. In November 1865, Felix Deacon,
a young lithographer who had (2) for a married woman, Sarah
Ann Peacock, was attacked (3) the street. His assailant was not
her husband but another man, a dentist who was equally (4)
with Mrs. Peacock and therefore saw Deacon as a (5).

SubQuestion No : 200

Q.2 f & 3 5
00 ISﬁelo.e;:,t the most appropriate option to fill in blank
0.5

Ans 2 1. mediator
v 2. rival
/< 3. opponent
& 4 friend

Question ID : 98958011520
Status : Not Answered
Chosen Option : --




